SPEC

CHAPTER 2.
SPECIFICATIONS

GENERAL SPECIFICATIONS ... ... .. ... ... ... ......... .. o2
ENGINE SPECIFICATIONS ... ... ... ... .. ... .. ... .. ....... ... 2-2
CHASSIS SPECIFICATIONS .. ... ... ... .. ... ... ... ....... 2-11
ELECTRICAL SPECIFICATIONS ... ... ... .. ... ....... ... ... 2-15
CONVERSIONTABLE . ... .. ... . ... . ... . .. .. ... ... ... 2-18
TIGHTENING TORQUES ... ... .. ... ... ... ... .. .. e 2-18

GENERAL TIGHTENING TORQUES ...................... .. .. 218

ENGINE TIGHTENING TORQUES . ......... ... ... .. e 2-19

CHASSIS TIGHTENING TORQUES .. ... e 2-22
LUBRICATION POINTS AND LUBRICANT TYPES . ... ... ... .. ... 2-27

ENGINE LUBRICATION POINTS AND LUBRICANT TYPES ..... 2-23

CHASSIS LUBRICATION POINTS AND LUBRICANT TYPES ... 2-24
OIL FLOW DIAGRAMS ... ... ... .. ... e e 2-25
COOLANT FLOW DIAGRAMS .. ... ... ... ... ... ......... ... 2-29

CABLE ROUTING ... ..., e 2-33




GENERAL SPECIFICATIONS

SPEC

SPECIFICATIONS
GENERAL SPECIFICATIONS
Item Standard Limit

Model code YZF-R6L: 5GV1 (USA) sow
YZF-R6CL:5GV2 (California) ove
YZF-R6L: 5GV3 (Canada) won

Dimensions
Overall length 2025 mm (78.7 in) wos
Overall width 690 mm (27.2 in) soo
Overall height 1105 mm {(43.5 in) ane
Seat height 820 mm (32.3 in) sne
Wheelbase A 1380 mm (54.3 in) osw
1385 mm (54.5 in) (California) wna
Minimum ground clearance 135 mm (5.3 in) waw
Minirnum turning radius 3400 mm (133.9 in) sew

Weight

Wet (with oit and a full fuel tank) 188 kg (415 1b) sue
189 kg (417 Ib) (California) soe
Dy (without oll and fuel) 169 kg (373 1b) wy
170 kg (375 Ib) (California) wos
Maximum load (total of cargo, rider, | 375 kg (827 1b) sae

passenger, and accessories)

o
L




SPEC

ENGINE SPECIFICATIONS b
ENGINE SPECIFICATIONS
ltemn Standard Limit
Engine
Engine tipe Liguid-cooled, 4-stroke, DOHC sus
Displacement 600 cm? (36.61 cu.in) von
Cylinder arrangement Forward-inclined parallel 4-cylinder oo
Bore x stroke 65.5 x 44.5 mm (2.58 x 1.751in) vee
Compression ratio 12.4 01 sew
Engine idling speed 1,250 ~ 1,350 r/min oo
Vacuum pressure at engine idling 24.0 kPa (180 mmHg, 7.0866 in Hg) soe
speed
Standard compression pressure 1550 kPa (15.5 kg/cm?, 224.75 psi) at sne
(at sea level) 400 r/min
Fuel
Recommended fuel Regular gasoline wao
Fuel tank capacity
Total (including reserve) 17 L (3.74 Imp gal, 4.49 US gal) pow
Reserve only 3.5 L (0.77 Imp gal, 0.93 US gal) wee
Engine oil
Lubrication system Wet sump ses
Recommended oil oo
00 W s BN 700 800 100 1307
) [Al: Yamalube 4 (10 W 30) or SAE 10 W
30 type SE motor oil (~10°C (10°F)
or higher)
B [B]: Yamalube 4 (20 W 40) or SAE 20 W
40 type SE motor oil (5°C (40°F) or
2010000 10 M a0 4r S0 h!gh@”r}
Quantity
Total amount 3.5L(3.08Impat, 3.70US gt) sou
Without oil filter cartridge 251 (220 Imp at, 2.64 US gt von
replacement
With oil filter cartridge replacement | 2.7 L (2.38 Imp qt, 2.85 US gt) ssa
Oil pressure (hot) 80 kPa (0.8 kg/cm?, 11.6 psi) at 1300 vee
r/min ‘
450 ~ 550 kPa (4.5 ~ 5.5 kg/cm?, 65.3 | ese

Relief valve opening pressure

‘‘‘‘‘‘ 79.8 psi)




SPEC

ENGINE SPECIFICATIONS *)
ltem Standard Limit
il filter
Oil filter type Cartridge (paper) ” see
Bypass valve opening pressure 80 ~ 120 kPa (0.8 ~ 1.2 kg/cm?, 11.6 won
~ 17.4 psi)
Oil pump
Trochoidal sew

Oil pump type
inner-rotor-to-outer-rotor-tip
clearance
Outer-rotor-to-oil-pump-housing
clearance

0.03 ~ 0.09 mm (0.0012 ~ 0.0035 in)

0.03 ~ 0.08 mm (0.0012 ~ 0.0031 in)

045 mm
{0.0059 in)
015 mm
(0.0059 in)

Cooling system
Radiator capacity

2.15 L (2.27 US qt)

Radiator cap opening pressure 110 ~ 140 kPa (1.10 ~ 1.40 kg/cm?, son
16.0 ~ 20.3 psi)
Radiator core
Width 320 mm (12.6 in) sos
Height 258 mm (10.2 in) sow
Depth 24 mm (0.94 in) e
Coolant reservoir
Capacity 0.44 L (047 US qb) ensw
Water pump
Water pump type Single-suction centrifugal pump wow
Reduction ratio 86/44 x 31/31 (1.955) wow
Starting system type Electric starter
Spark plugs
Model (manufacturer) x guantity CRTDEK/NGK x 4 wnw
CROEK/NGK x 4 (California) eo0

Spark plug gap

0.6 ~ 0.7mm {0.02 ~ 0.03in)

Cylinder head
Max. warpage

@

0.05 mm
{0.002 i)




ENGINE SPECIFICATIONS

SPEC

Measurement B

Measurement
Exhaust camshaft lobe dimensions

Measurement A

Measurement B

Measurement
Max. camshaft runout

YT
o wb.,mwr e Mo \

I
AT 3"’"13”“ T e W

25.14 ~ 25.24 mm (0.9898 ~ 0.9937 in)

7.81 ~

8.01 mm (0.3075 ~ 0.3154 in)
32.55 ~ 32.65 mm (1.2815 ~ 1.2854 in)
25.07 ~ 25.17 mm (0.9870 ~ 0.9909 in)
7.38 ~ 7.58 mm (0.2906 ~ 0.2984 in)

25 O‘i«? i
{0.99 in)

L3 5

32.50 mm
(1.28 in)
25.02 mm
{0.99 in)
{0.06 mumn
{0.0024 in

ltem Standard Limit
Camshafts
Drive system Chain drive (right) wws
Camshaft cap inside diameter 23.000 ~ 23.021 mm (0.9055 ~ 0.9063 in) | see
Camshaft journal diameter 22.967 ~ 22.980 mm (0.9042 ~ 0.9047 in) | eee
Camshaft-journal-to-camshaftcap 0.020 ~ 0.054 mm (0.0008 ~ 0.0021in) | 0.08 mm
clearance (0.0031 in)
Intake camshaft lobe dimensions
A
[ S
Measurement A 33.05 ~ 33.15 mm (1.3012 ~ 1.3051 in) | 33. Q mm
(1.31in)

)

2-4




ENGINE SPECIFICATIONS %
ftem Standard Limit
Timing chain
Model/number of links RHR2015/120 see
Tensioning system Automatic sow
Valves, valve seats, valve guides
Valve clearance (cold)
Intake 0.11 ~ 0.20 mm (0.0043 ~ 0.0079 in) seu
Exhaust 0.21 ~ 0.30 mm (0.0083 ~ 0.0118 in) ona
Valve dimensions
x\ |
. 4
5

Head Diameter

Valve head diameter A
intake
Exhaust

Valve face width B
intake
Exhaust

Valve seat width C
Intake

Exhatst

Valve margin thickness D
Intake

Exhaust

Valve stem diameter
intake

Exhaust

Valve guide inside diameter
Intake

Exhaust

Valve-stem-to-valve-guide clearance
Intake

Exhaust

Valve stem runout

Valve wm Wsmm
intake

Exhiaust

Face Width

Seat Width
24.9 ~ 251 mm (0.9803 ~ 0.9882 in)
21.9 ~ 221 mm (0.8622 ~ 0.8701 in)

1.14 ~ 1.98 mm (0.0449 ~ 0.0780 in)
1.14 ~ 1.98 mm (0.0449 ~ 0.0780 in)

0.8 ~ 1.1 mm (0.0354 ~ 0.0433 in)

0.9 ~ 1.1 mm (0.0354 ~ 0.0433 in)

0.6 ~ 0.8 mm (0.0236 ~ 0.0315 in)
0.6 ~ 0.8mm (0.0236 ~ 0.0315in)

3.975 ~ 3.990 mm (0.1565 ~ 0.1571 in)
3.960 ~ 3.975 mm (0.1559 ~ 0.1565 in)

4.000 ~ 4.012 mm (0.1575 ~ 0.1580 in)

4.000 ~ 4.012 mm (0.1575 ~ 0.1580 in)
0.010 ~ 0.037 mm (0.0004 ~ 0.0015 in)
0.025 ~ 0.052 mm (0.001 ~ 0.002 in)
0.9 ~ 1.1 mm (0.0354 ~ 0.0433 in)

0.9 ~ 1.1 mm (0.0354 ~ 0.0433in)

—

1
Margin Thickness

LA 2

L2

1.6 mum
{0.06 in)
1.6 mm
(.06 in)

0.5 mm
(

3.950 mm
(0.1555 in)
3,935 mm
(0.1549 in)

4,042 mm
({01591 in)
4.042 mm
{01591 in)

0.08 mm
(0.0031iIn)
0.1 mm
{00039 in)
0.04 mm
(0.0016 In)

1.6 mm
{0.06 i)
1.6 mm
(0.06 in)

-5




ENGINE SPECIFICATIONS ¥
ltem Standard Limit
Valve springs
Free length
Intake (inner) 37.0 mm {1.46 in) 35 mm
(1.38 in)
{outar) 384 mm (1.51 i) 36.5 mm
(1.44 in)
Exhaust 41.7 mm (1.64 i) Sﬁ) :» mm
(1.1
Installed length (valve closed)
Intake {inner) 30.0mm (1.18 in) oo
{outer) 32.5 mm (1.28 in) sun
Exhaust 36.1 mm {1.42 in) son
Compressed spring force
(installed)
Intake (inner) 69 ~ 79N (15.51 ~ 17.76 Ib, noe
7.04 ~ 8.06 kg)
(outer) 114 ~ 132 N (25.63 ~ 29.67 Ib,
11.62 ~ 13.46 kg)
Exhaust 160 ~ 184 N (35.97 ~ 41.36 Ib, son
16.32 ~ 18.76 kg)
Spring tilt
Intake {inner) see 2.5°71.6 mm
{(0.06 in)
(outer) 2.5°/1.7 mm
0.07 in)
Exhaust wow 2.5°/1.8 mm
{0.07 in)
Winding direction (top view)
ntake (inner) Counter clockwise s
(outer) Clockwise sue
Exhaust Clockwise evs
Cylinders
Cylinder arrangement Forward-inclined, parallel 4-cylinder ese
Bore x stroke 65.5 x 455 mm (2.58 x 1.75in) soe
Compression ratio 12.4 1 oo
Bore 65.50 ~ 65.51 mm (2.5787 ~ 25791 in)| ese
Max. taper son 0.05 mm
(0.002 in)
Max. out-of-round LT 0.05 mm

(0.002 in}

2-6




ENGINE SPECIFICATIONS

SPEC

W

ftern Standard Lirnit
Pistons
Piston-to-cylinder clearance 0.025 ~ 0.050 mm (0.001 ~ 0.002 in) 0.07 mm
(0.0028 in)
Diameter D 65.460 ~ 65475 mm (25772 ~ 25778 in) | see
. { } 4444444 |
, s H
Height H A D e,y f 4 mm (0.16 in) ave
Piston pin bore (in the piston)
Diameter 16.002 ~ 16.013 mm (0.6300 ~ 0.6304 in) | »ee
Offset 0.5 mm (0.0197 in) sow
Offset direction Intake side won
Piston pins
Qutside diameter 15991 ~ 16.000 mm (0.6296 ~ (0.6299 in) | ses
Piston-pin-to-piston-pin-bore 0.002 ~ 0.022 mm (0.00008 ~ 0.0009 0.072 mm
clearance iny (0.0028 in)
Piston rings
Top ring
4B
Ring type e
Dimensions (B x T) Barrel soe
End gap (installed) 0.80 x 2.45 mm (0.03 x 0.10in) 0.50 mm
0.15 ~ 0.25 mm (0.006 ~ 0.009 in) {0.02 in)
Hing side clearance 0115 mm
2nd ring 0.030 ~ 0.065 mm (0.0012 ~ 0.0026 in) | (0.05 in)
Ring type soo
Dimensions (B x T) Taper sue
End gap (installed) 0.8 x 25mm (0.03 x 0.101in) 0.85 mm
0.40 ~ 0.50 mm (0.016 ~ 0.020 in) (0.033 in)

Ring side clearance
Qil ring

r B
% I g

i

0.020 ~ 0.055 mm (0.0008 ~ 0.0022 in)

0115 mm
{0.05 )

Dimensions (B x T) vow
End gap (installed) 1.5 > 2.3 mm (0.06 x 0.09in) ses
0.10 ~ 0.35 mm (0.004 ~ 0.014 in)
2-7




ENGINE SPECIFICATIONS &
ltem Standard Limit
Connecting rods
Crankshaft-pin-to-big-end-bearing 0.028 ~ 0.052 mm (0.0011 ~ 0.0020 in) | ese
clearance
Bearing color code 1 = Blue 2 = Black 3 = Brown 4 = Green | eee
Crankshaft
Width B 268.8 ~ 270.0 mm (10.58 ~ 10.63 in) vos

e

Max. runout C

0.03 mm
(0.0012 in)

Big end side clearance D 0.160 ~ 0.262 mm (0.0063 ~ 0.0103 in) | see
Crankshaft-journal-to-crankshaft- 0.034 ~ 0.058 mm (0.0013 ~ 0.0023 in} | see
journal-bearing clearance
Bearing color code 0 = White 1 = Blue sos
2 = Black 3 = Brown
4 = Green
Clutch
Cluteh type Wet, multiple disc oee
Clutch release method Rack and pinion (pull rod type) eon
Clutch release method operation Cable operation ane
Operation Left hand operation wen

Clutch cable free play (at the end
of the clutch lever)
Friction plates

Thickness

Plate quantity
Clutch plates
Thickness
Plate quantity
Max. warpage

Clutch plate
Thickness
Plate quantity
Max. warpage

Clutch springs
Free length

Spring quantity

10 ~ 15 mm (0.39 ~ 0.59 in)

2.9 ~ 3.1 mm (011 ~ 0.121in)
8

1.9 ~ 2.1 mm (0.07 ~ 0.08 in)
7

£ 1

2.2 ~ 2.4 mm(0.087 ~ 0.094 in)
1

L 4

55 mm (2.17 in)

2.8 mm
(0. 1102 in)

L2

0.1 mm
{0.0039 in

0.1 mm
(0.0039 in)

54 mm
(2131

HH

2-8




SPEC

ENGINE SPECIFICATIONS S
ftem Standard Limit
Transmission
Transmission type Constant mesh, 6-speed wws
Primary reduction system Spur gear ane
Primary reduction ratio %/M (1.9545) #on
Secondary reduction system Chain drive say
Secondary reduction ratio 48716 (3.000) so0
Operation Left-foot operation soe
Gear ratios
1st gear 37/13 (2.846) w00
2nd gear 37/19 (1 ‘KK%M”?) wes
3rd gear 28718 (1.555) *os
4th gear 32/24 (1. d%) see
5ih gear 25/21 (1.180) s9e
Bth gear 26/24 (“% 083 auw
Max. main axle runout wos 0.02 mm
(0.0008 in)
Max. drive axle runout now 0.02 mm

(0.0008 in)

Shifting mechanism

Shift mechanism type Cam drum noe
Max. shift fork guide bar bending sos 0.05 mm
{0.002 in)

installed shift rod length 242 mm (9.52 in) soe

Air filter type Wet element ane

Fuel pump
Pump type Electrical voo
Model (manufacturer) 5EB (MITSUBISHI) so0
Output pressure 15 ~ 20 kPa (0.15 ~ 0.2 kg/cm?, veo

2.2 ~ 2.9 psi)

Carburetors
Model (manufacturer) x quantity CVRD37 (KEIHIN) x 4 vow
Throttle cable free play (at the 6~ 8mm(0.24 ~ 0.31in) aus
flange of the throttle grip)
ID mark 5GV101, 5GV210 (California) ose

Main jet

Main air jet
Jet needle

Needle jet
Pilot air jet

Pilot nutlet
Pilot jet
Bypass 1
Bypass 2
Bypass 3
Valve seat size

Carburetors 1 and 4: #152, #148 (California) | ess

Carburators 2 and 3: #148
#110

Carburetors 1 and 4: N78B
Carburetors 2 and 3: N75A
2.6

Carburetors 1 and 4: #105
Carburetors 2 and 3: #110
0.9

#38, #35 (California)

.8

0.8

0.8
1.2




SPEC

ENGINE SPECIFICATIONS b
ltem Standard Limit
Starter jet 1 #50 soe
Starter jet 2 0.6 voo
Butterfly valve size #110 suw
Fuel level (below the line on the 17.5 ~ 185 mm (0.69 ~ 0.73in) wow
float chamber)

2-10




CHASSIS SPECIFICATIONS

SPEC | g™

CHASSIS SPECIFICATIONS

High-speed riding
Min. tire tread depth

% 8

Ham Standard Limit
Frame
Frame type Diamond son
Caster angle 24° sos
Trail 81 mm (3.19 in) e
Front wheel
Wheel type Cast wheel veo
Fim
Size 17 > MT3.80 snw
Material Alurminum »oo
Wheel travel 130 mm (5.12 in) ase
Wheel runout
Max. radial whee!l runout sou 1 mm
(0.04 in)
Max. lateral wheel runout awe 0.5 mm
(0.02 in)
Rear wheel
Wheel type Cast wheel ews
Fim
Size 17 »x MTE .50 son
Material Aluminum wne
Wheel! travel 120 mm {4.72 in) e
Wheel runout
Max. radial whee! runout %o 1 mm
(G.04 im)
Max. lateral whee!l runout w69 0.5 mm
(0.02 in)
Front tire
Tire type Tubeless sne
Size 120/60ZR17 (55W) sun
Model (manufacturer) BRIDGESTON BT56FE oo
DUNLOP D2o7EJ
Tire pressure {cold)
0~ 90 kg (0 ~ 198 Ib) 250 kPa (2.5 kg/cm?, 36.3 psi) san
90 ~ 187 kg (198 ~ 412 Ib) 250 kPa (2.5 kg/cm?2, 36.3 psi) o806
250 kPa (2.5 kg/cm?, 36.3 psi) son

1.6 mm.
(0.06 in)




CHASSIS SPECIFICATIONS

SPEC

ltem Standard Limit
Rear tire
Tire type Tubeless son
Size 180/55 ZR17 (73 W) vew
Model (manufacturer) BRIDGESTON BT56R-E s
DUNLOP D207-N
Tire pressure (cold)
0 ~ 90 kg (0 ~ 198 ib) 250 kPa (2.5 kg/em?, 36.3 psi) ove
80 ~ 187 kg (198 ~ 412 Ib) 290 kPa (2.9 kg/cm?, 42.1 psi) son
250 kPa (2.5 kg/em=, 36.3 psi) s0e

High-speed riding
Min. tire tread depth

L2 1

1.6 mm
(0.06 in)

Front brakes
Brake type
Operation
Hecommended fluid
Brake discs
Diameter » thickness
Min. thickness

Max. deflection

Brake pad lining thickness

L -

Dual-disc brake
Right-hand operation
DOT 4

298 x 5mm (11.73 x 0.20 in)

LX 2
o o

onw

4.5 mm
(0.18 in)
0.1 mm
{0.0039 in)
0.5 mm
{0.02 in)

. I E
Master cylinder inside diameter 14 mm (0.55 in) soe
Caliper cylinder inside diameter 30.2mm (1.19 in) and 27 mm (1.06 in) sow
Rear brake
Brake type Single-disc brake soe
Operation Right-foot operation s
Brake pedal position (from the top 4.3 ~ 9.3mm (0.17 ~ 0.37 in) ooe
of the brake pedal to the bottom of
the rider footrest bracket bolt center.)
Recommended fluid DOT 4 wow
Brake discs
Diameter » thickness 220 X 5 mm (8.66 x 0.20in) wew
Min. thickness son 4.5mm .
{0.181in)
Max. deflection »66 01 mm

Brake pad lining thickness

7 7 . 3’\ v

Master cylinder inside diameter
Caliper cylinder inside diameter

5mm (0.2 in)

12.7 mm (0.5 in)
27.0 mm (1.06 in) and 22.2 mm (0.87 in)

(0.0039 in)
0.8 mm
(0.03 in)

B

5
F&J




CHASSIS SPECIFICATION e
ltem Standard Limit
Front suspension
Suspension type Telescopic fork ase
Front fork type Coil spring/oil damper »os
Front fork travel 130 mm (5.12 in) ven
Spring
Free length 251.8 mm (9.91 in) 246 mm
(9.69 in)
Spacer length 125 mum (4.92 in) sos
Installed length 247.8 mm (9.76 in) sos
Spring rate (K1) 7.5 N/mm (0.75 kg/mm, 42.83 Ib/in)
Spring stroke (K1) 0 ~ 130 mm (0.00 ~ 512 in) vy
Optional spring available No oo
Fork oil
Recommended ol Suspension oil “01” or equivalent sen
Quantity (each front fork leg) 476 cm?3 (16.09356 US 02z) s20
Level (from the top of the innertube, 107 mm (4.21 in) #an
with the inner tube fullycompressed,
and without thefork spring)
Damper adjusting rod locknut distance | 25 mm (0.98 in) soe
Spring preload adjusting positions
Mirimum 8 aue
Standard 7.5 ove
Maximum 1 wow
Rebound damping adjusting positions
Minimum* 9 s5e
Standard* 6 s
Maximum™ 1 wos
Compression damping adjusting
positions
Minimum® 10 wne
Standard* B sow
Maximum™ 1 pue

“from the fully turned-in position

213




CHASSIS SPECIFICATIONS

SPEC

ltem Standard Limit
Steering
Steering bearing type Angular ball bearings anw
Hear suspension
Suspension type Swingarm (link suspension) see
Rear shock absorber assemblytype Coill spring/gas-oil damper L
Rear shock absorber assemblytravel 60 mm (2.36 in) voo
Spring
Free length
installed length 169.5 mm (6.67 in) sov
Spring rate (K1) 159 mm (6.26 in) sos
Spring stroke (K1) 95.1 N/mm (9.51 kg/mm, 543.02 Ib/in} oo
Optional spring available 0 ~ 60 mm (0.00 ~ 2.36 in) sun
Standard spring preload gas/air No son
pressure 1,200 kPa (12 kg/cm?, 174 psi) voe
Spring preload adjusting positions
Minimum 1 saw
Standard 4 sus
Maximurry g wao
Rebound damping adjusting positions
Minimum*® 25 son
Standard” 9 see
Maximum* 1 vou
Compression damping adjusting
positions
Minimum” 13 swe
Standard” 7 ses
Maximum” 1 son
“from the fully turned-in position
Swingarm
Free play (at the end of the swingarm)
Radial asn 1 mm
(0.04 in)
Axial ase 1 mm
{0.04 in)
Drive chain
Model {(manufacturer) 53221V KAL(DID) son
Link quantity 116 son
Dirive chain slack 40 ~ B0 mm (1.57 ~ 1.97 in) sow
Maximum ten-link section 149 mm (587 in) wow

2-14




ELECTRICAL SPECIFICATIONS

SPEC

ELECTRICAL SPECIFICATIONS

flem Standard Limit
System voltage 12V soe
lgnition system
Ignition system type C.D.1 sow
Ignition timing 10° BTDC at 1300 r/min ses
5° BTDC at 1300 r/min (California) son
Advanced timing 55° BTDC at 5250 r/min voe
Advancer type Throttle position sensor and electrical #os
Pickup coll resistance/color 248 ~ 372 Q/Gy-B sen
Transistorized coil ignition unit model | F8T362 (MITSUBISHI) vow
(manufacturer)
Ignition coils
Model (manufacturer) FET549 (MITSUBISHI) sen
Minimum ignition spark gap 6 mm (0.24 in) vos
Primary coil resistance 0.204 ~ 0.276 Q wae
Secondary coil resistance 8.5 ~ 11.5kQ s80
Throttle position sensor standard 4 ~ 6 kQ weo
resistance
Charging system
Systemn type AC magneto soe
Model (manufacturer) F4T366 (MITSUBISHD sow
Nominal output 14 V/320W at 5,000 r/min saw
Stator coil resistance 0.27 ~ 0.33 Q2 at 20°C (68°F) wos
Voltage regulator
Regulator type Semiconductor, short circuit type s
Model {manutacturer) SHE50A-12 (SHINDENGEN) wou
No-load regulated voltage 141 ~ 149V s
Rectifier
Model SHE50A-12 o
Rectifier capacity 18 A wow
Withstand voltage 200V sow
Battery
Battery type GT12B-4 voe
Battery voltage/capacity 12 M/10 AH soe
Headlight type Halogen bulb
Indicator light type » quantity LED » 8
Bulbs (voltage/wattage x quantity)
Headlight 12VB0W/E5W x 2 evo
Tail/brake light 12V21TW/BEW x 2 soo
Turn signal/position light 12V 27 W/BW x 2 (front) son
12V 27 W x 2 (rear) sus




ELECTRICAL SPECIFICATIONS

SPEC

ltem Standard Limit
Meter light 12V14W x 2 s
Electric starting system
System type Constant mesh vos
Starter motor
Model (manufacturer) SM-14 (MITSUBA) sus
Power output 0.6 kW see
Brushes
Overall length 10 mm {0.39 in) 3.5 mm
(0.14 in)
Spring force 7.16 ~ 9.52 N (730 ~ 970 g, sae
2577 ~ 34.27 0z)
Commutator resistance 0.012 ~ 0.022 Q soe
Commutator diameter 28 mm (1.1 in) 27 mm
(1.06 in)
Mica undercut 0.7 mm (0.03 in) s00
Starter relay
Model (manufacturer) MS5F-631 (JIDECO) ses
Amperage 180 A son
Coil resistance 4.18 ~ 4.62 Q) sou
Horn
Horn type Plain eoa
Mode! (manufacturer) x quantity YF-12 (NIKKO) > 1 ann
Max. amperage 3A eow
Flasher relay
Relay type Full-transistor vos
Model (manufacturer) FE246BH (DENSO) ane
Self-cancelling device built-in No eoe
Turn signal blinking frequency 75 ~ 95 cycles/min. su0
Wattage 27TW x 2+34W ssu
Oil level switch model (manufacturer) | 5EB (DENSO) son
Fuel sender
Model (manufacturer) 1UF (NIPPON SEIK]) so0
Resistance 0.7 ~ 1.1 kQ GW-B sue
Sidestand relay
Model GB8R-30Y-K swe
Coll resistance 162 ~ 198 sew
Fuel pump maximum amperage 1A ose
Fuel pump relay model (manufacturer) | G8R-30Y-K (OMRON) eso
Resistance 162 ~ 198 Q
Radiator fan model (manufacturer) 4XV (TOYO RADIATOR) eve
Thermo switch model (manufacturer) | 5EB (NIPPON THERMOSTAT) sue
Headlight relay (manufacturer) ACA12115 (MATSUSHITA) ese
Resistance 72 ~ B8

216




ELECTRICAL SPECIFICATIONS

SPEC

ltem Standard Limit
Temperature sender
Mode! (manufacturer) 11H (NIPPON SEIKY) wow
Resistance 50.6 ~ 64.2 Q at 80°C (176°F) esn
16.1 ~ 17.3 Q at 120°0C (248°F)

Fuses (amperage x quantity)

Main fuse 30A % 1 soe
Headlight fuse 20 A x 1 sve
Signaling system fuse 20 A x 1 won
Ignition fuse 15 A x 1 ane
Hadiator fan fuse 7.5 A ven
Backup fuse (odometer) 7.5 A x 1 ene

2-17




CONVERSION TABLE/TIGHTENING TORQUES | SPEC | g™

EHI000 Rt
CONVERSION TABLE TIGHTENING TORQUES
All specification data in this manual are GENERAL TIGHTENING TORQUES
listed in Shand METRIC UNITS. “ This chart specifies tightening torques for standard
Use this table 1o convert METRIC unit data fasteners with a standard ISO thread pitch. Tighten-
to IMPERIAL unit data, ing torque specifications for special components or
Ex. assemblies are provided for each chapter of this
- N ) manual. To avoid warpage, tighten multi-fastener
METRIC MULTIPLIER IMPERIAL assemblies in a crisscross pattern and progressive
*mm X 0.03837 = **iry stages until the t’ammi‘fim tight@irﬁﬂg torque is
o K reached. Unless otherwise specified, tightening
emm X 0.03937 = 0.08in torque specifications require clean, dry threads.
CONVERSION TABLE Components should be at room temperature.
METRIC TO IMPERIAL
Metric unit | Multiplier | Imperial unit
RETI mekg 7.233 ftelty
;{;:g;;htm mekg 86.794 inelby
m@i e cmekg 0.0723 | ftelb
jue crmeke 0.8679 inelb
el ki 2.205 b
Weight 1 ¢ 0.03527 | oz
Speed kin/hr 0.6214 mph
ke 0.6214 mi ,
m 3;@” # A Width across flats
Distance | m 1.084 yd . Thread diameter
om 03937 A B: Thread diameter
mm 003937 in - - -
B . General tightening
ce (om?) 0.03527 | oz (IMP lig.) A B torques
Yolume/ | cc (emd) 006102 | cusin (nut) (bolt
Capacity | 1t (liter) 0.8798 gt (IMP lig.) T Nm | mekg | ftelb
it (iiter) 0.2199 | gal (IMP lig.) -
- ™ 10 mm & mm 6 0.6 4.3
o/ mm /in -
. ;ﬁg;fm“:s {3%{3{3” psi (Ib/in?) 12 mm 8 mm 15 1.5 11
Misc. A 142234 " L .
?““,’%;;“W‘mw 9/5+32 | FEhrennel 14mm | 10mm | 30 | 30 | 22
18 mm 12 mm 55 5.5 40
19 mm 14 mm 85 8.5 &1
22 mm 16 mm 130 13.0 94




TIGHTENING TORQUEs |SPEC | g™

ENGINE TIGHTENING TORQUES

e Tightening
ltem Fastener ﬁi?ﬁgﬁid Qty torque Remarks

R Nm | mekg | ftelb
Spark plugs M10 4 13 1 1.3 | 94
Cylinder head Boit M10 10 | 51 | 51 | 37 — O
Cylinder head Bolt M6 2 10 | 1.0 | 7.2
Camshaft caps Bolt M6 20 | 10 | 1.0 | 72 —{]
Cylinder head cover Bolt M6 6 10 | 1.0 | 7.2
Oil passage chec Bolt M8 1 20 1 20 | 14
Cylinder head {m*f:?@u@ pw) Stud bolt M8 8 15 |15 1 11
Connecting rod caps Nut M7 See NOTE ity
Generator rotc Bolt M12 1 ] 65 |65 | 47 —a{{]
Pickup rot w Bolt M8 1 35 | 35| 25 —af()
t_mm bolt (timing chain tensioner) Bolt M6 1 10 0 1.0 1 7.2
Timing ¢ ﬂm tensioner bolt Bolt ME 2 12 1.2 1 87
Camshaft sprocket Bolt M7 4 24 0 2.4 17
Oil pump Bolt Me 3 12 | 1.2 | 87
Oil cooler Bolt M20 1 63 | 63 | 46
Engine oil drain bolt - M4 1 43 143 | 31
Ol pump assembly driven sprocket Balt M6 2 10 1.0 7.2 -]
cover
Oil pipe Bolt M6 2 15 | 1.5 | 11 3
il f“i ter bolt Bolt M20 1 80 | 8.0 | 58
Qil filter cartridge M20 1 17 | 1.7 | 12 ~a]
Exhaust pipes MNut M8 8 20 1 2.0 14
Muffier mmmm Bolt M& 1 20 1 2.0 14
Exhaust pipe emission check bolts Bolt M6 4 10 |10 72
Exhaust pipe bracket Bolt M8 1 20 2.0 14
Crankcase Bolt M6 2 14 114 1 10 “‘""‘*‘
Crankcase Bolt M6 12 12 12 87
Crankcase Bolt M8 12 | 24 |24 | 17 | —Q@
Genarator rotor cover Bolt M6 g 12 1.2 87
Drive sprocket cover Bolt M6 5 10 1.0 72

NOTE:

After tightening to 15 Nm (1.5 mekg, 11 ftelb), tighten another 90°




SPEC

TIGHTENING TORQUES (® pag
. Tightening
Hem Fastener T Zzﬁfﬁ 'ty torque Hemarks
o Nm |mekg | ftsib
Clutch cover Bolt M8 10 12 1.2 | 87
Pickup coil rotor cover Bolt M 5 12 1.2 | B
Shift shaft cover Bolt M6 6 12 1.2 | 87
Breather plate 2 M6 3 12 | 1.2 | 87 -3
Starter cluich Bolt M8 3 32 | 3.2 | 25 -
Cluteh boss MNut Mz20 1 70 7.0 51 | Use a lock
washer,
Clutch springs Bolt Mo 6 8 0.8 1 568
Drive sprocket Nut M18 1 70 1 7.0 | 51 | Usealock
washer,
Main axle bearing housing Screw M 3 12 1.2 87 -0
Shift bar stopper Bolt MG 2 10 1.0 1 7.2 -
Shift shaft spring stopper Bolt M8 1 22 | 22 | 16 -
Shift rod locknut Nut M& 1 7 0.7 1 B
M8 1 10 .00 7.2
Ol level switch Bolt ME 2 10 1.0 172
Shift arm Bolt Me 1 10 1.0 172
Stator coil Bolt M6 3 10 | 1.0 | 7.2 -]
Ignitor unit Bolt M6 1 10 1.0 7.2
Neutral switch Screw Me 2 40 104 | 29
Pickup coil Bolt M5 2 10 )10 | 72 -3
Thermo urit PT1/8 1 15 1.5 11
Thermo switch M18 »x 1.5 1 28 2.8 20

2-20




TIGHTENING TORQUEs | SPEC

Crankcase tightening sequence:

2-21




TIGHTENING TORQUEs |SPEC | g™

CHASSIS TIGHTENING TORQUES

Tightening
ftem Thread size torque Remarks
Nm | mekg | fislb
Upper brackel pinch bolts M8 26 1 26 18
Steering stem nut M28 15 115 83
Handlebar pinch bolts M8 33 133 24
Lower ring nut M30 9 0.9 | 6.5 | See NOTE,
Lower bracket pinch bolls M8 23 1 2.3 17
Brake fluid reservoir cap stopper M4 12 1.2 1 87
Front brake hose union bolts M10 30 0 30 | 22
Front brake master cylinder M6 18 1.3 | 94
Engine mounting
Front mounting bolts Mi12 55 | 55 | 40
Mi12 55 | 55 | 40 )
Rear mounting bolts M10 45 | 45 | 33 —iid
Pinch bolts M8 24 | 2.4 17
M6 18 | 1.3 | 94
Bution head bolt M10 38 | 39 | 28
Exhaust pipe bracket Me 20 1 2.0 14
Pivot shaft nut M8 95 | 95 | B9
Connecting arms M10 40 | 40 | 29
Helay arm and connecting arms M10 40 1 40 | 29
Relay arm M10 40 1 4.0 | 29
Fear shock absorber and relay arm M10 BE 1 B5 | 40
Fuel cock M6 7 0.7 0 51
Fuel sender and fuel tank Mé& 7 07 | 51
Coolant reservoir and radiator M6 5 05 | 36
Rider footrest bracket M8 28 128 1 20
Passenger footrest bracket Mg 28 | 28 | 20
Rear master cylinder M8 23 | 23 | 17
Rear brake hose union bolis M10 30 0 3.0 ) 22
Sidestand M10 60 | 6.0 | 43
Front wheel axle M18 72 | 7.2 | B2
Rear wheel axle nut Mz24 150 | 15.0 1 108
Front brake caliper and front fork M10 40 | 4.0 | 29
Rear brake caliper and bracket MO 27 27 | 20
Brake disc and wheel M6 18 | 1.8 13
Rear wheel sprocket and rear wheel drive hub M10O 69 | 689 ¢ 50
Brake caliper and bleed screw M8 & 06 | 4.3
Pinch bolt (front whee! axie) Mg 23 1 2.3 17
NOTE:

1. First, tighten the ring nut to approximately 17 Nm (1.7 mekg, 12 ftelb) with a torque wrench, then
loosen the ring nut completely.
2. Retighten the ring nut to specification.




LUBRICATION POINTS AND LUBRICANT TYPES

SPEC

EBFO00

LUBRICATION POINTS AND LUBRICANT TYPES
ENGINE LUBRICATION POINTS AND LUBRICANT TYPES

Lubrication point Lubricant
Oil seal lips o )
O-rings il Sl

Bearings

—Q

Crankshaft pins

—Q

Piston surfaces

Piston pins

—Q

Connecting rod bolts and nuts

Crankshaft journals

Camshaft lobes

Camshaft journals

Valve stems (intake and exhaust)

Valve stem ends (intake and exhaust) — O
Water pump impeller shaft — O
Oil pump rotors (inner and outer) — ‘
Oil pump housing sl E
Oil strainer o
Starter clutch idle gear inner surface ol

Starter clutch assembly

Primary driven gear

Transmission gears (wheel and pinion)

Main axle and drive axle

Shift drum i E 1
Shift forks and shift fork guide bars - O
Shitshatt -~ = O
Shift shaft boss welll LSl
Engine mounting bolts (rear) el S
_— . Yarmaha bond
Cylinder head cover mating surface ‘ .
y ¢ ang No.1215
. , ‘ Yamaha bond
Crankcase mating surface " PG
€ Mmating surie No.1215
) Yamaha bond
Clutch cover (crankcase mating surface PO
(crankcase mating ) No.1215
aenerator rotor cover (crankcase mating surface) Yﬁg;g? 1“;2“7?”{3
N o e

Cylinder head cover

Yamaha bond
No. 12158




LUBRICATION POINTS AND LUBRICANT TYPES

SPEC | g™

EBRORN0

CHASSIS LUBRICATION POINTS AND LUBRICANT TYPES

Lubrication Lubricant
Steering bearings and bearing races (upper and lower) sl S
Front wheel oil seal (right and left) e o)
Rear wheel oil seal el SH
Rear wheel drive hub oil seal ool il
Rear wheel drive hub mating surface s |
Rear brake pedal wlf STy
Sidestand pivoting point and metal-to-metal moving parts oL Hib
Throttle grip inner surface sl ST
Brake lever pivoting point and metal-to-metal moving parts e STl
Clutch lever pivoting point and metal-to-metal moving parts ol ST
Rear shock absorber assembly oil seal ool
Rear shock absorber assembly bearing ]S el
Rear shock absorber assembly spacer wdl ST
Pivot shaft oL Ml
Connecting arm bearing (left and right) L ST
Spacer (relay arm and connecting arm) B
Oil seal (relay arm and connecting arm) sl LS




OIL FLOW DIAGRAMS | SPEC

OIL FLOW DIAGRAMS

) Intake camshatt
Exhaust camshaft
Crankshaft

Ol pipe

O strainer

(&) Ol pump




OIL FLOW DIAGRAMS

SPEC

whaust camshaft




OIL FLOW DIAGRAMS |SPEC

‘‘‘‘‘‘‘‘

(@) Crankshatt

?v
]
~d




OIL FLOW DIAGRAMS

SPEC

) Main axle
Ol delivery pipe
driveaxie

2-28




COOLANT FLOW DIAGRAMS |SPEC | g™=

COOLANT FLOW DIAGRAMS

Hadiator
Hadiator fan
3 Ol cooler

O,




COOLANT FLOW DIAGRAMS

SPEC

(2) Thermostat
) Radiator
4) Therm

Thermostat housing

2030




COOLANT FLOW DIAGRAMS | SPEC

2-31

£,




COOLANT FLOW DIAGRAMS |SPEC| g™

e

) Radiator
Radiator fan switch
(3) Madiator fan

T ey
. i
. 1
(% I
i
),

£

/ < FA
(l/
/
//




CABLE ROUTING |SPEC | g==

CABLE ROUTING

abile
' Left handlebar switch lead
3) Main switch lead

Al Install the headlight relays onto the headlight housing bridge.
Route the headlight lead through the plastic guide.

[C] Route the right handlebar switch lead in front of the front fork inner
tube.

D] Route the wire hamess through under the left handlebar switch lead
and starter cable.

Fasten the left handlebar switch lead to the front fork with a plastic

locking tie and cut the end of locking tie.

'F| Fasten the throttle cables and starter cable with a band.

Locate the end of band to forward.

S0mm{3.54 in)

2-33




CABLE ROUTING |SPEC | g™

Houte the hom lead outside the throttle cables and

fasten it to the under bracket with a plastic locking

tig. Cut the end of locking tie. And then, route the

horn lead under the brake hose and clamp it to the

under cover,

'H] Route the throttle cables between the brake hose
and right handlebar switch lead.

Somn{3.54 in)




CABLE ROUTING |SPEC| g™
1) Fuel pump lead [E] Fasten the clutch cable to the coolant hose protec-
Fickup coil lead _tor with a plastic band.
Thermo swilch F]
Plastic clamp

Fasten the rear brake switch lead to the footrest
bracket with a plastic locking tie and cut the end of
Clutch cable locking tie,

) Rear brake switch lead ‘

[Gl Fasten the fuel pump lead and rear brake switch
tead with a plastic band on the fuel pump bracket.

i Route the clutch cable through the guide on the
frame,

Dl Route the coolant hose under the heat protector
plate.

2-35




SPEC

CABLE ROUTING (S

) Ol lever switch lead

Sidestand switch lead

Heservoir tank breather hose

AL magneto lead

Neutral switch lead

Fuel pump lead

Speed sensor lead

Houte the throttle cable through inside of the radia-
tor bracket and outside of the wirehamess.

(Bl Fasten the wireharness, radiator hose and fan mo-
tor lead with a plastic band.

putly.
Houte the wirehamess under the radiator hose,

breather hose should between the reservoir thank
breather hose and the coolant breather hose, and
kept outside the leads,

;ﬁ;ﬂg Route the wireharmess through the siit of rear fender,

[F| Pass the fuel tank drain hose and the fuel tank
breather hose inside the curved under cowling.
hose into the reservoir tank by passing through the
tank holder.

MNo fixed order required.
Do not twist the hoses.

[H Put the fuel tank drain hose and the fuel tank
breather hose through the hook and the side

stand’s holder.

No fixed order required.

Do not twist the hoses.

236




CABLE ROUTING |SPEC| g™

| 1] When the sidestand is down. [0l Route the rear turn signal light leads (left and right)
The end of the drain hose must be located in through the hole of rear fender.
betweery.

sor lead with a band.

[L] Route the fuel tank drain hose, fuel tank breather
hose, reservolr tank breather hose, oll level switch
lead and sidestand switch lead through the guide
on the frame.

Ml Route the starter cable between the main switch

lead and left handiabar switch lead.

IN| Route the seat lock cable outside of the wirehar-
ness.

L P
@ & “?‘»“«*
v N

YN T S—
30omm( 118 in)

AT




CABLE ROUTING |SPEC

Throttle cable

Coolant temperalure sensor lead
) Coolant reservoir breather hose
ldle adjust screw
Pickup coil connector
Neutral switch connector
) Rear brake switch connector
{andlebar switch (right) connec-
tors
Throtlle position sensor connector
1) Main switch connectors
2 Handiebar switch (left) connec-
tors
13 Neutral switch lead
Fuel pump connector
Hear brake switch lead

) Heat protector
Fan motor lead connector

[Bl Route the clutch cable through the guide.




CABLE ROUTING |SPEC g™

[C] Fasten the handlebar switch leads (left and right) [ 1] Insert the projection of the band to the hole of the

and main switch le m with a band. frame and fasten the wireharness, neutral switch
Houte the ignition coil lead and handlebar switch lead, handlebar switch leads (left and right), main
leads {left and right) over the heat protection plate. switch lead, throttle position f;ﬁr";wr‘ lead, rear

E] Route the reservoir tank hose, carburetor heater brake switch lead and pickup coil lead with them.
hoses under the heat prwwcmr plate. [J] Route the starter motor lead under the wirehar-
Route the coolant temperature lead upper the heat ness,

protection plate. [K] Fasten the starter motor to the rear fender with a
\G] Route the coolant breather hose upper the heat band.

protection plate. Fasten the battery positive (+) cable and starter

'H| Fasten the neutral switch lead, right handiebar __motor cable with a plastic band.
switch lead, main switch lead, TPS lead, left han- [M Position the rear %ur?mqna light connectors (Jeft
cdHebar s wia:“ lead, pickup coill lead and main har- and right) and taillight connector between the rear

nass with a band. fender and taillight bracket,

NI Install the seat lock cable to the frame bracket with
protector side




CABLE ROUTING |SPEC g™

The fuel tank drain hose, coolant temperalure lead

Fasten the battery negative lead after passing un-

der the main harness and oil level sensor lead. and the coolant breather hose must be located
[P] Fasten the main hamness, oil level sensor lead and . ‘1‘1’}’@!"1?"‘@ groove. i
ground lead with a band. W Fasten the leads (above 1 ~ 5) and starter motor
[Q Fasten the starter relay lead and battery negative ., lead with a steel band on the engine. A
(-} lead to the wireharness with a plastic band X Route the coolant breather hose upper the main
ey T ! " harness.
| o fuel filter . “
% l?jéi”?t‘k attery negative () lead and wirehz [Y] Route the fuel tank breather hose and fuel tank
L= Fasten the batlery negative () lead and wirehar- drain hose over the wireharness.

o band, I

ness with a pla

To carburetor

Insert the projection of the band (wireharmess) into  [A] The starter cable must not be out off the guide
the hole of the frame. groove of the cover.
|1 Speed sensor connector IB] Route the starter cable upper the heat protec-
2: AC magneto connector tion plate.
3: Sidestand switch connector Insert the starter cable to the guide.
4: Oil level switch connector D] To fan motor

Route the starter cable and main hamess through
the guide of the heat protection plate.

H

- Meter ground lead




